o
[N

=
® E
~0.15F
S C
w 0.1
Vv »
0.05F
oF
-0.05F
-0.1
-0.15F

............

[y

W[TTTT T

-2

-1 0

1

2 3

TP n (PCA to beamline)

< d cot(B) >

..........

...........

—0v2

10

Ratl

0.95!

W[TTTT T

-2

-1 0 1

2 3

TP n (PCA to beamline)

—=— DQM_TT__mkFit-DQM_original-lowpt
—— DQM_TT__mkFit-DQM_updated-lowpt

(@)
(RN LA R RN LR RN RERN R

8

.....

.....

.................

.................

.................

H

Ratiq

o
©
C

e R R -3
. M I Y I e | P |1 P
. et 1e

|
(¢ B B

-2

-1 0

1

2 3

TP n (PCA: to beamline)

<op/p.> (%)
O = N W N O

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

-1 0

1

2 3

TP n (PCA- to beamline)

......................

..................

....................

Ratiq

iy

0.95

W

-1 0 1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


